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If the function f (t) =sint, then try to draw that
f(t)gi(t-0)- u(t-p)g* 7 (t)gi(t- 0)- u(t-p)g
Cpin(t - u)sinudu = gysintcosu - costsinu)sinudu

= % Cgsintsin(2u) - cost (1- cos(2u))gdu
= % Cf(sintsin(2u) + costcos(2u) ) - cost gdu

= ldcos(t - 2u) - cost)du

—lge lsm(t 2U) - ucost_

1%

=- 1sin(t - 2u) - 1ucos;t
4 2

: ol
If O£t£p,then cpin(t- u)sinuduz? %sm(t- 2u) - %ucost%o

:lsint - lt cost

If p£t£2,then cyin(t- u)sinudu:gf %sin(t- 2U) - %UCOSthtp
-p

1. 1
=- Zsint- =(2p - t)cost
> 2(29 )
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Created with a trial version of A
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Created with a trial ver si on of A
sin(u) and sin(t-u)
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Created with a trial ver sion of A
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f(t)gu(t-0)-u(t-p)g* f(t)gu(t- 0)- u(t-p)g
. F(t)y*f(t)

Created with a trial ver si on



